HW - ATOMIC MASS

Name________________________


For each of the following, find the atomic mass and give the formula for the most abundant isotope:

1)

	Isotope
	Abundance

	magnesium-24
	78.70%

	magnesium-25
	10.13%

	magnesium-26
	11.17%


2)

	Isotope
	Abundance

	101X
	9.77%

	103X
	38.12%

	104X
	52.11%


3)

	Isotope
	Abundance

	copper-63
	73.10%

	copper-65
	26.90%


4)

	Isotope
	Abundance

	1H
	98.90%

	2H (deuterium)
	0.75%

	3H (tritium ( radioactive)
	0.15%


5)

	Isotope
	Abundance

	silicon-28
	92.21%

	silicon-29
	4.70%

	silicon-30
	3.09%


6)

	Isotope
	Abundance

	tellurium-120
	0.09%

	tellurium-122
	2.46%

	tellurium-123
	0.87%

	tellurium-124
	4.61%

	tellurium-125
	6.99%

	tellurium-126
	18.71%

	tellurium-128
	31.79%

	tellurium-130
	34.48%


7)  Chlorine comes in two isotopes, 35Cl and 37Cl.  If the atomic mass of chlorine is 35.45, what are the


percent abundances for the two isotopes?  What is the symbol of the most abundant isotope?


